06940 :# DNIMVIA 740 1 8DVd 90/€7/T ALVA

0 QY04 10°€ HANVYITO Al
-MHAIA dHAOTdXH

orldwq
\

g-76vL-D -NOISIATYA

9l 3SOH
H3H1v3Hg Ol1

d dNodYo



EXPLODED VIEW: AR CLEANER 3.0L FORD C4

DRAWING #: 0F6970

APPLICABLE TO:
ITEM PART# QTY. DESCRIPTION
1 0F4269 2 GASKET, MIXER BODY
2 0F4271 1 BASE PLATE AIR CLEANER
3 0F4268 1 TOP PLATE VENTURI
4 0F4270 1 HOLD DOWN AIR CLEANER
5 049811 4 WASHER FLAT M6
6 022097 4 WASHER LOCK M6-1/4
7 047411 4 SCREW HHC M6-1.0 X 16 G8.8
8 0F5418 1 ELEMENT AIR FILTER
9 0F6323 1 PLATE, AIR CLEANER TOP 3.9L
10 037561 1 NUT WING 1/4-20 NYLK
1 074008 1 WASHER M10 LOCK
12 070264 1 WASHER FLAT M10
13 051755 1 SCREW HHC M10-1.5 X 16 G8.8
14 OF5611 1 BRACKET AIR CLEANER 3.0L
15 057796 1 GROMMET
16 0E6609 1 GROMMET ROCKER COVER 3.0L FORD
17 049099 1 BARBED EL 90 3/8 X 3/8 PLST

REVISION: G-7492-B

DATE: 2/23/06

GROUP D

PAGE2OF 2



